Mcgo1

|
[ -
—w
SAE1B0mmET
MC-VvB>Y—X
= NE | STIE | WA | KRE | KRR | SEE |~FUVY | BAREHE | S2EE
= D(mm) | R(mm) | d(mm) | db(mm) | W(mm) | B (mm) No. () {kgf) ¥ @
50x24 50 24 8 30 29 18.0 608ZZ | 2,059 {210} 75
65x34 65 34 12 40 39 29.0 6201ZZ | 3,334 (340} 180
75%x32 75 32 10 45 36 253 6200ZZ | 3,530 ({360} 210
100x34 100 34 12 47 38 273 6201ZZ | 5,099 ({520} 360
130x42 130 42 20 59 50 38.2 600477 | 8,238 (840} 740
150x44 150 44 20 67 52 40.2 6204ZZ | 9,807 (1000} 870
180x45 180 45 20 72 54 422 6204ZZ | 11,768 (1200} 1,170
200x45 200 45 20 82 54 416 6304ZZ | 13,043 (1330} 1,480
250x54 | 250 54 25 % 63 486 | 630527 | 20,300 (2070) | 2,630
300x60 | 300 60 30 108 70 546 | 630622 | 26478 (2700) | 4,200
MC-vS¥J—X
— NE | ST | MAE | KRE | KRE | SEM |~FUVY| BAWGHE | SEEE
D (mm) R (mm) d (mm) db (mm) | W (mm) B (mm) No. (N) {kgf} kS (@
75%x32 75 32 10 45 36 253 620022 3,334 (340 210
100x34 100 34 12 47 38 273 620122 4,413 (450] 360
130x42 130 42 20 59 50 38.2 600422 6,865 (700] 740
150x44 150 44 20 67 52 40.2 620422 9,414 (960] 870
180x45 180 45 20 72 54 422 620422 9,414 (960] 1,200

BRFEHELRTYLANRT UV T DRIET MC-VB ¥ —ZXLDETFNEBDET,
NP YT ORI AL —28 ETVIR—ILI SUS-440C, UF —F B0V —IL KiRlE SUS-304 £EBLTLET,
23y 7Y TlE SUS-304 TT,

*ERIOOVWTHEHAETS). REBLRLIEENBET. HBANSHERREHETOSEETT.
*RE (KP) WETHRTEEERTT. HE (@) BETRRERIEERTY, W) RSN BETT,
a1



	クオドラントポリペンコジャパン.pdf_0002_20130909_092619_043

